log [dY, * ] AY=A[L+AA,Y]

0.0 Triir unbunte Farben X dY, Y
in WN-Richtung / -1.0 0.0471.8

-0.5 0.065 5.6
0.0 0.124180
05 031 56.9
1.0 0.896 180
AJlA; =0.1226

A;=0.0388 A =0.004

Kittelmann_P0O2_017/
(x,y,Y)=(0,33, 0,36, 18)

e
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




log [dY, * ] AY=A[L+AA,Y]

0.0 Tfiir unbunte Farben X dY, Y
-1.0 0.0461.8
-0.5 0.0625.6
0.0 0.11318.0
0.5 0.27556.9
1.0 0.785180
A,JA; =0.106
A;=0.0391 A = 0.004
A3=2.507 A=0.556
Kittelmann_PO4_068/
a (x,y,Y)=(0,33, 0,36, 18)
-05 00 05 1,0 x=log[Y/Yig
36 18 90 180 Y




log [dY, * ] AY=A[L+AA,Y]

0.0 Tfiir unbunte Farben X dY, Y
in WN-Richtung -1.0 0.0411.8
-0.5 0.054 5.6
0.0 0.097 18.0
0.5 0.23156.9
1.0 0.657 180
AylA; = 0.0986
A;=0.035 A =0.003!
Az=1.141 A =0.853
A5 0.2362 Kittelmann_PO5_392/
|_ (x,y,Y)=(0,33, 0,36, 18)|
-05 00 05 1,0 X=log[Y/Yy]
36 18 90 180 Y




